1. 32x 79 9] oko] 47t 12 WY o, A4 a O] 312?

D1 @ 2 (@)3 @ 4 ® 5

32x 79 O] OF50] = (24 1) x (a4 1) = 12 (7))
Z,3x(a+1) =12 9|22 g = 3 o]t}




810 9] OF40] 7|49k 3 x 57 x 7 9] OF40] 47k 2L, A% x

o] Zt& Fstofat.
> E:
> He: 4

~&B

810 = 2 x 3% x 5 &) k=9 =7} 3 x 5* x 7 Q] oF4=9] A 49}
Zrovz

A+1D)A+1D)(1+1) =0+ 1)(x+1)1+1)=20

Lx=4




3. A 135 9 50 NG9t 3 x5 x a” O] 0] ATt e,
n+m 2 Z27 (Hm,n-& AE50|aL, a # 3,59 &)

@1 (@)2 ® 3 @ 4 ® 5

B )
135 =33x5

(9] 74 = 4x2 = 8(7W)
I+)x(r+1)xm+1)=8,n=1m=1
JHEE2n+m=1+1=2




23 x x x5 & oFp o] A7t 16 717F =71 A% 7P A2 x 9
Fotolet,
| =
> =g 3
23 x xx 5 9] F2] 4=
(B+1)x(x2] AL +1)x(1+1) = 16 &2 AADTE (x2] A5)+

1 =2 7} S[ofof gt}
I E& 3ot




3B xa = 5o MET12 A 5 T 7PF AL S5ty T, q o
oL A2 159

D1 @ 4 ® 9 ®)25 ® 36

12=4x3=(3+1)x(2+1)
33><a7]'—_§——/\0]‘:'§
= 3 Bt Z &9 Al Fpo]BR 52 = 25




6.

ax 3t o ATt 15709 & F

a? gk Fstofz=t

> E.

> Heh: 25

15=5x3=(4+1)x(2+1)
3t xa 7t E40|82

av 3 Ht 2 259 AlESolER 5% =25




73] 14, 16
72 : 12, 20
a3 15, 18

\VARR 4
0X
i
N,
ok

m‘v

E«

733])
2) 14 2) 16
7 2) 8
2) 4
2
14=2x7 16=2X2x 2% 2=9"
LR AT 24 x T =112
Sfi%)
2) 12 2) 20
2) 6 2)10
3 5

14=2x2x38=9X3  20=2x2%x5=2x5
A AT 22x 3% 5 = 60

q3)
2) 15 2) 18
5 2) 9
3
15=3%5 18=2x2x3=2%%3

SR ATHE 2% 32 x5 =90




8. Al 4140, 28, 100 o] HaFuieE?

@D 2x5x7 @ 22 x 52 @ 2x5x 72
@ 23 x52 @22x52x7

140 = 22 x5x 7,28 =22x7,100 =22 x 52 o]|2& FA4
Hj 4L 92 % 52 x 7 o]t}

o




15 2o ol 8otod 4] 5 24,32,36 9] H4

of

@ 4 @ 48 ® 9  (@)2ss

~&B

® 360

2)24 2)32 2)36
2)12 2) 16 2)18
2) 6 2) 8 3) 9
3 2) 4 3
P
5.24=2"x3  .32=2"  .36=2"x3

mrebA X AFalg= 2° x 32 = 288 °| T

2




10.

o 2o FRAA A uF Bl Wl A= 54 o5
Z=0] g2 () o]t} o], Ho|7] ek A] Ho] gl Z=o] i
2o A FSBa S, A=B 9 ZHe Tatolat =7
> =

> ™et: 17

B i T 99] £0] $e 00] B2 —p9} ulF 1 He) i
2, 117} 0t B WOl & -11, 73 ulF B Wl =7
ojtt.

mbA], A = 2% (-11) X 7 = —154,

B=2+(-11)+7=-2

~ A+B=(-154) = (-2) =77




11.

QL
Kl
30
T

wZ|o} w0l 7} H9ItSI RS sho] AT 9. 27] ol B

ZHERIEE A o711 27k Y2 Lebrkal AW 17 ofefj = W=t
712 stk E B|7|H 13 918 F Ajgo] »E galrhy] & syt
groF mz]7F 4 o] 7] 3¥ H7] A 2 H-E o, UAE A2 94
AA dupt EeptEA] oot

[

> E!

> HE:

Ne)
[

B

4% (+2) +3x(+1)+2x(-1)

= (+8) + (+3) + (-2)

= (+11) + (-2)

=49

b Rz A2 A EG 9%t & 20,




12.

ofd) Wi et 7t A ole] AL ol e Fas|ewt 277

vk o]k, 7] 2xtol 7t 7bg 2 A

7] & A AL | BA | g [T AA
Fa7|12(c)| -1 | 8.8 2 | —4.4(-2.2
HA71(c)|-8.8|-4.6| -5 |-15.9|-14.6

® A @ w4 ® ot
@ of (©RE!

~&B

ME:-1-(-88)="178
HAF:33-(-4.6)=179

QT 2-(=5) =7

e ¢ —44 - (-15.9) = 11.5

AA 0 —22 - (-14.6) = 124

Kelie)

=




13.

6 2 YA 7, 5 2 A 47 AL 4 2 A 30l =
A Al o] AHAs T 7P 22 5 Estolzt

D 116 @ 117 ® 118 @119 ® 120

B ~

b= 5 x 2ok (x+1) 26, 5, 4 ©] Fuf4olch

3
S AFE S =2%x3%x5%2 =60

vl 5 7P A2 4= 60 x 2 = 120 ]2

x+1=120 .. x=119

S
>
©
©
ofd




14. A= N < 15 olate] 2 of v R U Uejz]= B 1 ol
= T5ok= N FollA 1500 ol 78 7H7ke 245 A-stef =t

15 o|ste] 2 9o vj4= 2, 4, 6, 8, 10, 12, 14 o|th
2, 4, 6, 8, 10, 12, 14 9] A Fu|$LE 840 o|B &2 5=
= 840x 2+ 1 = 1681 ©|t}.




15.

42 UFH3 ol
2t Fof| A 71 22 £ F5foiat,

2
fu
T
Ir
=)
N
N
ot
K
o
fu
T
I
(2
<
LY
fr

>

> Hehl 59

B ‘
4,5,6 02 W}-H g} 1 o] HESIER Iote 58 x 2 oFH
x+1-24,5,6 2 FHjSolct,

4,5,6 9] HaZHl$E 60 |22 60 9] Bl 5 7T
60 ©]ct.

w2kA x + 1 =60 0|22 x = 59 o[t}

o3l
X




laj=6Na=6FE=a=-6°1, |bl=7ANb=7%E=
b=-70|tt

axb <090E2 g9 p= A2 Httf] 5ot} whatr g =
6, b=-TE=a=-6, b="70°]t}.

(i)a=6,b=-7L 0

a—-b=6-—(-T=6+7=13

(ii)Ja=—-6, b=7 <L o

a-b=-6-7=-13




17. 5 A% a, b2 444 9ol ehhel 5 4

lal = 3lp| & ™, 7Fs?t a, b & =A% (a, b)

>

 oh

0
i

(=9, 3)

0
it

(9, -3)

0
i

(~18, —6)

v VvV Vv vy

0
o

(18, 6)

Apole] Azl 12 0|1
£ 2% Fafola,

~&B

(i)a<0,b>0%

B e L |
«~t—t+—t+—+—1>

a 0 b

=a>0 b<0< o,

1
30

(ii)a<0,b<0E

Ak oAb b

0

rr

y
T
a
GE =6

rr

b
a=18, b o]ct.

Ea>0,b>04 0, *’—V—'—‘*

Ak AR AR AR
<—r—v—v—v—1—> o|t}. 12 =

4=3°B2g=-9, b=3%E=a=9, b=-3°|t}h

4k, AR, AR T

> olt}, 12:2=6°]B2 g =18, b = -6




X

R

x o Auzo] 5,y ©] Aol 3 A ), x—y 7H B 5
st by 2 oe}

2~
e

18.

ol

+8

(+5) + (+3)

(+5) = (=3)




